MCQVS 3251

A

ISO 15552 1Z#EEERE] - BRE2428Y ( A" 8568R )

= ot P RARITIE
BN ASEESS T2 (mm) (mm)
25,50,75,100,125,150,175,200,250,300,

032~6100 | 351 400,450,500,600,700,800,900 1000

* TR AR AR > FEIAEBAE -

BT -

f= = s 1y

Rkl / FTRECHR

MCQVS — 11 — 40 — T00M

=i

mindman

FEn
m AIS| 316 REEHIME
ATFRMEEE R - BT -
m ISO 15552 FEH#ERIK
TRBSBIBSATYE 1SO 15552 HASBUE » AW Al FARs L -
CEZ iz

ZRfE IR - E s

m BRI
Kk
UG8 McaQvs
SRAHLATE (mm) 32,40 50,63 80,100
o P 25
5 FHJBE i ] 0.1~1 MPa
i/ 7] 1.5 MPa
JE R —10~+80°C ( NS )
5 P S s 50~1000 mm/sec
SR RCV (Hit&ih2: 8-8 5 )
BRI BV125
LS

FAC — MCQVS — 40
| 1

B Bige FAIPO1E
1] e FAIRE TR MRE
* B RH MR FREERITL
fEBI R AR T g B
fae| e B BT o] I CA
11| = |amsr T = cB
201 = | g1 (1= [,,,CBB,
R TR
2|7] SOET | s | 200™m LB —
i FBC
[[']Dm TA
ﬂ:l]:[])m 8
$HB / E A RS Oy | 1
0 [Jreez | YE
PIN — MCQVS — 40 — CB 0= ] oo
T . 753 =
- ZEERI, i
CA & CB U
CB | I—T| & c mirm

AW mindman



MCQVS-11 wiihsat ik L% V

ISO 15552 1Z#EFERE] - BR2428Y ( A" 858R ) mindman

L Es R

RGN

232, 240

250~2100
— =

AEWERERHE (RE)

No. EHHTE Ma B T 950-0100 A (RE) fizE
1 | %E SUS316 1 [ ] [ J

2 | JEZELENE T 1 o [ J

3 |t’kim%E tHad 1 [ )

4 | FRER NBR 2 [ () [ J
5 | OBk NBR 2 [ ] [ [ J
6 |TEIEZEIER NBR 2 o @ [ J
7 | M B 1 (] [ J

8 | WhlkER %=y %) 1or2 ©) ©) Q 232,40 #& 2 > © i
9 |O#ER NBR 1 [ ] @ [ J
10 | RIGZE EEE 1 @

1M | SUS316 1

12 |Fies SUS316 1 o o

13 |HiE Bl 1 [ ) [ J

14 | IEZEREER NBR 1 () () [ J
15 | iG2ER SUS316 1

16 | FRATIRIE SUS316 1 o Y

17 | BRI SUS316 8 Y Y

18 | B SUS316 4

19 | FEflmih H FrEpepe 1 [ )

20 |G HES 1 o

21 | #EfEH R A 1 [ J

22 | &t SUS316 2 () [ J

23 |0 XU NBR 2 o Y Y
24 | §tRERE SUS316 2 o [ J

AW mindman



MCQVS-2* Wil EE%Sk V

ISO 15552 1Z#EEERE] - BRE2428Y ( A" 8568R ) mindman

L 821/ 278 |

7 o

@%V — —

i S

232, 240

1 3 @Eﬁ% ffffffff B Lgﬁ

21 AUz | 27 #UZ - - REHAEME: (M2 ) il -
No. A|B|A | B Sl MR B 232, 240 250~2100 (AE) fifiE
1 @ | @ |FIFHIRE SUS316 1
2 @ @ | @ | @ |iFEE# SUS316 1
3| @ () E3GES e 1 [
41 @@ | @ | @ &R NBR 2 ) ) ™)
510 @®|® | ® OHE NBR 2 o o )
61 @ @ | @ | @ |IHFEFHE NBR 2 ® ) ™)
70| @ | @ | @ |iifEE Ll 1 [ ) [ )
8. @0 | @ | @ | @ MR gy 1or2 © © @) 232,40 #& 2 > O &Y
9 @/ ® | @ | ® OHE NBR 1 ) ® )
10| @ () [FIRGEE i 1 ()
1" @ 0| 0| @ |ilE SUS316 1
12 @ | @ @ | @ |fi= SUS316 2 ™Y )
13/ 0| 0| 0| @ #HE L 2 [ ()
14| @ | @ | @ | @ |[HEHEHER NBR 2 ™Y ® ™)
1510 | @ | @ | @ [IEFES#M SUS316 1
16| @ | @ | @ | @ |FriZE SUS316 2 Y ®
171 @ | @ | @ | @ |ZE5IIE SUS316 8 ) )
18| @ | @ | @ | @ %2R SUS316 4
19 [ ) @ |#EfEH EE 1 ()
20 () [ BREES e 1 Y
21 o @ | A& R HES 1 [ )
72K BK BK BK BEi SUS316 2 ™Y )
23/ @ ®@ | @ | @ O%iE NBR 2 ° ) ™)
241 @ | @ | @ | @ |GIEEE SUS316 2 ™Y o

A: 32, 240, B: 850~2100

AW mindman



MCOQVS FEHEEHE & B 0320100

ISO 15552 1Z#EFERE] - BR2428Y ( A" 858R )

W SRR / TR
CP—MCQVS—2—-40M

T o T

W B/

A TR

mindman

PS —MCQVS — 2 — 40 — XB6

T J 1§

A 1 - y Biis
mgr ULl mERE s mgr LN mEmE et
32, 40, 50, 32, 40, 50,
63, 80, 100 63, 80, 100
W EHEER
ERFAREER B 1 kg
A AT HAREE (KT ) 1712 25 mm HAER HARTER () 712 25 mm
L MCQVS-11 MCQVS-11 MCQVS-11 McCQvs-21 MCQvVs-21 McCQvs-21
Pfe
232 1.002 1.008 0.07 1.061 1.067 0.088
240 1.724 1.736 0.11 1.797 1.809 0.128
@50 2.597 2614 0.18 2.597 2.614 0.180
263 4.389 4.409 0.20 4.389 4.409 0.200
280 6.750 6.777 0.31 6.750 6.777 0.310
2100 11.227 11.262 0.35 11.227 11.262 0.350
27 A SUREEL (A) ] FHERNE (B)
N AT AR (Fi) 1772 25 mm AT A 25 mm
i mMcQvs-27 mMcQvs-27 MCQVs-27 MCQvVs-27 McQvs-27
e € |3_o(Jb
232 0.039
240 0.097
@50 0.183
263 0.183
280 0.201
2100 11.895 11.913 0.442 0.201
*27 FliE R =A+B
(L EREER AT kg
R PIN
Uk FAC/FBC TA/TB/TC
gk LB CA CB CDB YP CAICB
- o A O o A .
i | I L Orl | T2
232 0.060 0.176 0.138 0.128 0.090 0.032
240 0.072 0.274 0.230 0.308 0.153 0.052
@50 0.160 0.368 0.338 0.370 0.317 0.060
263 0.180 0.682 0.540 0.690 0.317 0.122
280 0.370 1.196 1.000 0.894 0.680 0.152
2100 | 0.432 2.100 1.700 1.584 0.680 0.290

AW mindman



MCQVS it /MI

ISO 15552 1Z#EEERE] - BRE2428Y ( A" 8568R ) mindman

No. LR =1 HR No. LR M HX
1 | LB L4 SuUS316 | 1-61 8 | MFC {F®BzH e 8-2
2 | CAZHHi SUS316 | 1-61 9 | MFCS {1 o] 8-5
3 | CB+PIN Ze&pg it SuUS316 1-61, 64 10 | PHS-S fafR 208 BN 8-7
4 | CDB Z2#5fift: SUS316 | 1-60 11 | PC &##8H (PISCO) — 8-3 (Zi—1ft)
5 | FAC/IFBC Z24&fiift: SUS316 | 1-63 12 | JSC FHEizs (PISCO) — 8-21 (ZE—fft)
6 | TAITB/TC Ze2figt: SUS316 | 1-62 13 | RCV+BV125 /&% — 8-8
7 | YP AR SUS316 1-64 14 | HEEE BB —

AW mindman



MCQVS SHBIR 632-0100

5 S = [EF =F. 1] 5 ;
ISO 15552 1Z#EFERE] - BR2428Y ( A" 858R ) mindman
J ZB+ 1712 A
OX B+ 17F%
0o G R1+ 78 G1
2xDD R B2
& & :
:#*%}@ 1Jelx {D)
H>I> B1
L E
ub
K K
ZNw2x 1772
A ZM+2x 1772 A
cHiTl B+ 7 c
| |
' '
-/ -/
ZQue2x (I + AT
F+ 702 + FTARITR B+ 1712 c A
AA+ TR
= =i < & —
g I I] | _____—_’ U Y _____"B i }>
CH S
ACH T TH
[ | A |aa|ac|aF| B [B1]|B2| C |cH| DD E F|G |61 I {J|kK|L|[O|R|RI[R2
32 22 (28 20 | 20 [ 94| 10 [ 17 | 26 | 17 | G1/8 | M10x1.25| 48 | 12 |15 3020 4 (28 14 |1325| 6 64| 16
40 24 |130.5| 24 | 30 (105| 13 | 19 | 30 | 27 | G1/4 | M12x1.25| 54 | 16 |17.5| 35 | 22 4 |31.5| 16 |38 7 70| 21
50 32 (28 19 | 40 (106 | 17 | 24 | 37 | 36 | G1/4 | M16x1.5 59 | 20 |16 40 | 28 4 131.5( 21 |46.5| 8 74 | 24
63 32 (28 19 | 40 |121| 17 | 24 | 37 | 36 | G3/8 [M16x1.5 | 59 | 20 |18 45| 28 | 4 |35 22 |56.5| 8 85| 33
80 40 |45 32 | 50 [128| 21 | 30 | 46 | 36 | G3/8 | M20x1.5 | 81 | 25 (18 45 | 34 | 4 |36 23 |72 9 92| 34
100 40 |45 35| 50 [138| 21 | 30 | 51 | 36 | G1/2 | M20x1.5 86 | 25 |19 55 | 38 4 (41 26 |89 9 |100| 58
i ) T ulub| x|z |zB|zm|2zN|za
T
32 |M6x%1.0 M5x%0.8x10L 45| 16 451146 (120|146 190|190
40 | M6x%1.0 M6x1.0x10L 55| 16 55(163|135|165(213|213
50 |[M8x1.25 | M8x1.25x12L | 8.5| 16 651791431180 | 244 | 234
63 |[M8x1.25 | M8x1.25x12L | 8.5| 16 | 80 (194|158 | 195 | 259 | 249
80 |[M10x1.5 | M10x1.5x15L | 8.5| 16 95(218 174|220 (300 | 295
100 |M10x1.5 [M10%x1.5x15L (10 16 | 115(233|189 (240|320 | 315

AW mindman



